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=] = P HVE Er U HVE Tl = = HEHVE = DV = 5
&5 R 4 .zllqé; -FlﬁﬁfJ(:)o)ﬂEr‘ﬁﬁ jj(g')\lj/kn%é X 4 -Fiﬁ’ﬁgé%‘;(orzikq: .z,n? jj(g')\;tnié X 4 .(Er,na; J:m;ﬁ(:)(btl:.a jj(lfilﬁf)é X 4 Llﬁﬁ?ﬁ(z)@ttﬁ .(ES jj(gr)uitn?)é
3 100kN/mM##BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/MiZE#BZ 5 - -~ - -|3m#FB2 3 -~ - - -
ZThES 1.00/ 000 ~ 7.36 93.87| #hblist | 000 ~ 7.36] 209 11.16 ZTh LSt 1.00] 500 ~ 1185 93.87| #hbist | 500 ~ 11.85] 2.09 11.16
4 100kN/mM#%# 8% % 1.00/ 000 ~ 055 108.09|3m#%E#Z 3| - ~ - - —| 100kN/M%#8 2% 1.00| 1056 ~ 12.12 108.09|3m%i#B% % -~ - - -
ZTh LS 1.00] 055 ~ 833 100.00] #n L4t | 000 ~ 833| 1.74 9.33 Zh s 1.00] 500 ~ 1056 100.00f Zh st | 500 ~ 12.12] 1.74 9.33
5 100kN/mM#%# 8% % -1 -~ - -|3mZzBz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZhLS -1 -~ - -| =it -~ - - - Zh LS - -~ - -| Zhiist -~ - - -
6 100kN/mM#%#BZ % -1 -~ - -|3mZz#Bz3| - ~ - - -| 100kN/mZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZThLS -1 -~ - -| #hist -~ - - - Zh LS - -~ - -| Zhiist -~ - - -
14 100kN/mM#%# 8% % -1 -~ - -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZTh LS 1.00/ 000 ~ 586 73.36] #nList | 000 ~ 586] 1.73 9.27 Zh s 1.00] 500 ~ 6.60 73.36] #nLis | 500 ~ 6.60] 1.73 9.27
15 100kN/mM#%# 8% % -1 -~ - -|3mZzBz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZhLS 1.00/ 000 ~ 5093 74.24] FhLst | 000 ~ 593 1.67 8.94 Zh LS 1.00] 500 ~ 6.80 74.24] FhbLis | 500 ~ 6.80| 1.67 8.94
16 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 7.20 91.63| ZnList | 000 ~ 7.20| 2.08 11.12 Zzh st 1.00f 500 ~ 11.30 91.63] #n i | 500 ~ 11.30f 2.08 11.12
17 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
Zh LS 1.00]0.00 ~ 7.10 90.12| Z#h it 000 ~ 7.10| 2.67 14.31 Zh LS 1.00] 5.00 ~ 1240 90.12| #hbist | 500 ~ 1240| 267 14.31
18 100kN/mM##BZ % 1.00{0.00 ~ 0.35 105.23|3m%EHE %% -~ - - -| 100kN/ %8z % 1.00| 10.53 ~ 11.49 105.23|3m%E#B %% -~ - - -
ZnLst 1.00] 035 ~ 8.14 100.00] Zhist |0.00 ~ 8.14] 1.78 9.55 Zh st 1.00f 5.00 ~ 10.53 100.00f Z1List | 500 ~ 1149 1.78 9.55
19 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 7.52 96.13] ZnList |0.00 ~ 752| 1.93 10.35 Zh st 1.00f 500 ~ 11.60 96.13] Zn iy | 500 ~ 1160 1.93 10.35
20 100kN/m##BZ % -l -~ - -|3mzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 3.08 39.57| #nList | 000 ~ 3.08] 2.31 12.34 Zh st 1.00f 500 ~ 5.00 39.57| #nlis | 500 ~ 500 231 12.34
91 100kN/mM%#EZ % - -~ - -|3mEEZD -~ - - —| 100kN/ %8z 5 - -~ - -|3mZEiEZ S -~ - - -
Zhn Lot 1.00{ 0.00 ~ 7.37 93.94| #nList | 000 ~ 7.37| 1.66 8.86 Zzh st 1.00f 500 ~ 9.89 93.94| #hLis | 500 ~ 9.89| 1.66 8.86
99 100kN/mM%#EZ % - -~ - -|3mEEZD -~ - - —| 100kN/ %8z 5 - -~ - -|3mZEiEZ S -~ - - -
Zhn Lot 1.00] 0.00 ~ 6.25 78.501 =nh L4t | 0.00 ~ 6.25| 1.96 10.50 Zzh st 1.00f 500 ~ 8.00 7850 Zh kst | 5.00 ~ 8.00| 1.96 10.50
93 100kN/mM%#EZ % - -~ - -|3mEEZD -~ - - -| 100kN/ %8z 5 - -~ - -|3mZEiEZ S -~ - - -
Zhn Lot 1.00{ 0.00 ~ 7.41 9457 #nList | 000 ~ 7.41| 1.85 9.92 Zh Lot 1.00f 500 ~ 9.80 94.57| #n iy | 500 ~ 9.80f 1.85 9.92
04 100kN/mM%#E% % - -~ - -|3mEEZD -~ - - -| 100kN/ %8z 5 - -~ - -|3mZEiEZ 5 -~ - - -
Lt 1.00{0.00 ~ 7.68 98.42] #n st | 000 ~ 768 1.99 10.63 Lt 1.00f 500 ~ 11.30 9842 zh Ly | 500 ~ 11.30f 1.99 10.63
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25 100kN/mM##BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/MiZE#BZ 5 - -~ - -|3m#FB2 3 -~ - - -
ZThES 1.00/ 000 ~ 7.36 93.89] #hList | 000 ~ 7.36| 257 13.77 ZTh LSt 1.00] 500 ~ 1185 93.89| #hbList | 500 ~ 11.85 257 13.77
26 100kN/mM#%# 8% % 1.00/ 000 ~ 0.18 102.65|3m%E#ZB| - ~ - - —| 100kN/M%#8 2% 1.00/ 11.30 ~ 11.80 102.65|3m%i#B% % -~ - - -
ZTh LS 1.00/0.18 ~ 797 100.00] #hlist | 000 ~ 7.97] 239 12.81 Zh s 1.00] 500 ~ 11.30 100.00f Zh it | 500 ~ 11.80] 2.39 12.81
97 100kN/mM#%# 8% % -1 -~ - -|3mZzBz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZhLS 1.00/ 000 ~ 7.20 91.63] #hblist 000 ~ 7.20| 256 13.72 Zh s 1.00] 500 ~ 11.30 91.63| #hbiist | 500 ~ 11.30] 256 13.72
28 100kN/mM#%#BZ % 1.00/ 000 ~ 035 105.23|3m%E#ZB| - ~ - - —| 100kN/M%#8 2% 1.00[ 1053 ~ 11.49 105.23|3m%i#B% % -~ - - -
ZThLS 1.00]035 ~ 8.14 100.00] #hLlst [000 ~ 8.14] 2.20 11.77 Zh s 1.00|] 5.00 ~ 1053 100.00| #hlust | 500 ~ 11.49] 2.20 11.77
29 100kN/mM#%# 8% % -1 -~ - -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZTh LS 1.00/ 000 ~ 6.25 7850 #nList | 000 ~ 6.25| 1.96 10.50 Zh s 1.00] 500 ~ 800 7850 #hList | 500 ~ 8.00| 1.96 10.50
30 100kN/mM#%# 8% % -1 -~ - -|3mZzBz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZhLS 1.00] 000 ~  7.41 9457] #hList | 000 ~ 741| 185 9.92 Zh s 1.00] 500 ~ 980 9457 #hbiist | 500 ~ 980| 1.85 9.92
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ ZhUs ~ Zh LS ~ Zh LS ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ ZhUs ~ Zh LS ~ Zh LS ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ ZhUs ~ Zh LS ~ Zh LS ~
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM%#E% % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zh st ~ ZHNLS ~ ZThLLst ~ ZTHLS ~ |
=EFR



